


f'c 3500psi s 12in

ϕv 0.75
b 8in n 2

bf 8in
ϕs 0.9

h 36in
ϕc 0.65

fy 60ksi
d h 2.5in 33.5 in

Astirrup
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 0.196 in
2


Av 2 Astirrup

Abot_bar
π
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 0.442 in
2



Vc 2
f'c

psi
 psi b d 31.71kip

Vs

Av fy d

s
65.777kip

ϕVn_dt ϕv Vc Vs  73.115kip

Avf n Abot_bar 0.884 in
2



μ 1.4

ϕVn_sf ϕv Avf fy μ 55.665kip

As n Abot_bar 0.884 in
2



ϕMn ϕs As fy d
As fy

0.85 f'c bf

1

2







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

 128.77kip ft
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